JIRERE

- ™ o 4 ] =
) (TSSERARMBREER  \orz sz (ramm)

iﬁg | EE%‘*%*I |9H«<

=G FT5-NPT3/8-SS NPT3/8 3- 5.3 17.05 9 17
L i FT8-NPT3/8-SS NPT3/8 4-8 17.05 9 17
FT6-NPT3/8-SS NPT3/8 3-6.3 17.05 9 20

@ 3 —y NG FT10-NPT3/8-SS NPT3/8 6-10 17.05 9 20
- L J/—' FT9-NPT1/2-SS NPT1/2 5.5-9 21.22 11 24
: FT12-NPT1/2-SS NPT1/2 8.5-12 21.22 11 24

FT14-NPT3/4-SS NPT3/4 10-14 26.56 12 24
FT16-NPT3/4-SS NPT3/4 12-16 26.56 13 30/31

nﬂ 1pe8 (€ o= FT18-NPT3/4-SS NPT3/4 14-18 2656 13 30/31
s EmRA FT22-NPT1-SS NPT1 1822 3323 15  38/40
. _ FT25-NPT1-SS NPT1 20-25 3323 15  38/40

B == 17| #1 )
MERP EEADRTRA04(FIETR316ME) FT25-NPT1-1/4-SS NPT1-1/4 1825 4198 15 50
KRN BEHEPAGL BB ENBRIGE FT30-NPT1-1/4-SS NPT1-1/4  24-30 4198 15 50
FT25-NPT1-1/2-SS  NPT1-1/2 1825  48.05 15  54/50
GEZg EEEEESEN > CRRERS FT30-NPT1-1/2-SS NPT1-1/2  24-30 4805 15  54/50
FT44-NPT2-SS NPT2 38-44  60.09 15  70/65

HEEER  ZIP68

PGEF M (i)

HERRE #RE | -40°CH|+110°C » BEEAE+120°C
BAE © -20°CH) +80°C - FIRSRIE+100°C ygs ;ﬁg | EEF i %

MEF AR () FT65-PGT7-55 PGT 3 6.3 125 8 14

FT5-PG7-SS PGT7 3-5.3 12.5 9 17

BRI | %Fﬁﬁ@ 9+1<«| FE | #&RF FT8-PG7-SS PGT7 4578 12,5 9 17

g BiE FT5-PG9-SS PG9 353 15.2 9 17

FT3-M6-SS M6x1.0 1.5 3 6 6 10 FT8-PG9-SS PG9 4.5-7.8 15.2 9 17

FT4-M8-SS M8x1.25(1.0) 2-4 8 6 12 FT6-PG11-SS PGT1 4-7 18.6 9 20

FT6-M10-SS M10x1.0(1.5) 3-6.3 10 6 14 FT10-PG11-SS PG11 6-10 18.6 9 20

FT5-M12-SS M12x1.5 3-5.3 12 9 17 FT9-PG13.5-SS PG13.5 5.5-9 20.4 10 24

FT6S-M12-SS M12x1.5 3-6.3 12 9 14 FT10-PG13.5-SS  PG13.5 7-11.3 20.4 10 24

FT8-M12-SS M12x1.5 45-7.8 12 9 17 FT12-PG13.5-SS  PG13.5 8-12 20.4 10 24

FT8-M14-SS M14x1.5 45-78 14 9 17 FT10-PG16-SS PG16 7-11.3 22.5 12 26

FT6-M16-SS M16x1.5 4-7 16 9 20 FT14-PG16-SS PG16 9-14 22.5 12 26
FT8S-M16-SS  M16x1.5 4578 16 9 19117 FT16-PG21-SS PG21 12-16 283 125 32/31
FT10-M16-SS M16x1.5 6-10 16 9 20 FT18-PG21-SS PG21 14-18 28.3 12.5 32/31
FT9S-M20-SS M20x1.5 5.5-9 20 10 24 FT22-PG29-SS PG29 16-22 37 12.5 42/40
FT10X-M20-SS  M20x1.5 6-10 20 10 24 FT25-PG29-SS PG29 18-25 37 12.5 42/40
FT10S-M20-SS  M20x1.5 7-9.8 20 10 24 FT25-PG36-SS PG36 18-25 47 15 54/50
FT12S-M20-SS  M20x1.5 8-12 20 10 24 FT30-PG36-SS PG36 24-30 47 15 54/50

FT14-M20-SS M20x1.5 10-14 20 12 26 FT32-PGA42-SS PG42 26-32 54 15 60

FT16-M20-SS M20x1.5 12-16 20 12 26/27 FT41-PGA42-SS PG42 31-41 54 15 60
FT10-M25-SS M25x1.5 7-11.5 25 125 26/31 FT44-PG48-SS PG48 38-44 59.3 15 70/65
FT14-M25-SS M25x1.5 10-14 25 125 26/31 FT51-PG48-SS PG48 47-535 593 15 76/70

FT16-M25-SS  M25x1.5 12-16 25 12.5 30/31

FT18-M25-SS  M25x1.5 1418 25 125 30/31 G/PFEF &R (AR EH)

FT18-M30-SS M30x1.5(2.0) 14-18 30 125 34/31

FT18M32-SS  M32x1.5 1418 32 125 30/40 ’o gngfgt EEEE | &

FT22-M32-SS  M32x1.5 1722 32 125 38/40 Bk ? AG i
FT25-M32-SS  M32x1.5 18-25 32 125 38/40 FT6.G1/4-55 G1 /4 363 1315 o 17
FT25-M36-SS  M36x1.52.0) 1825 36 145 40 FT8.G1/4-5S G1/4 e
FT30-M40-SS  M40x1.5 2430 40 15 50 FT8.G3/8.55 G3/8 48 1666 9 20117
FT30-M42-SS  M42x2.0 2430 42 15 50 FT10-G3/8.5S G3/8 610 1666 9 20
Gl e T ool N FT10-G1/2-5S G1/2 7113 2099 10 24
FT41-M50-SS _ M50x1.5 3141 50 15 60 FT12-G1/2-SS G1/2 85-12 2099 10 24
FT44-M63-SS  M63x1.5 36-44 63 15 70/65 FT14-G3/4-SS G3/4 1014 2644 125 26/30
R T e e T FT16-G3/4-SS G3/4 1216 26.44 125 30/31
FT54-M63-SS  M63x1.5 47535 63 15 75/70 FT18-G3/4-S5 63/4 1418 2644 125 30/31
FT44-M64-SS  M64x2.0 36-44 64 15 70/65 ET25-G1.SS p 2025 3325 145 38/40
FT60-M72-SS  M72x2.0 50-60 72 15 80/75 FT30-G1-1/4.S5  G1-1/4 2430 4191 15 50
FT66-M75-SS ~ M75x2.0 56-66 75 15 90 FT25-G1-1/2-SS G1-1/2 18-25 478 15  54/50
FT60-M80-SS  M80x2.0 5060 80 15 90/76 FT30.G11/255  G1-1/2 2430 478 15  54/50
FT66-M80-SS  M80x2.0 56-66 80 15 90 ET44-G2-SS G2 3844 5961 15  70/65
FTT7-M90-SS ~ M90x2.0 66-77 90 15 100 FT66-G2-1/2-SS G2-1/2 56-66 7518 15 90/85
FT80-M100-SS  M100x2.0 7580 100 20 100

T B mm o AATHRDHREEEIER T BT



